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The mean of the median, mode and range of the observations

$6,6,9,14,8,9,9, 8.

U&ull 6, 6, 9, 14, 8,9, 9, 8 DI HIILDI, dgdd 3R URIR DT HIST ©

a) ’
b) °
c) 3

d) s
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P is 4 times of Q. Q is how much percent less than P?

P,Q®I 4TIl Q, P I a1 Ul=id &H g°2

HAS 3
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The p“i‘““a:_ Qg?s”t_be'o":’tfpresegts ”‘fe GHTER GRT §YdR Pl §d U 3i3 P Y& & AR Pl §d
percentage distripution or the numoer o . ﬂ_@:ﬂ' ﬂﬁlﬁﬂ

eggs sold by a shopkeeper on different e \31?33f ol @f Ui Rlld |

days of a week. Find the ratio of the number of eggs sold by the shopkeeper

on Wednesday to that of the same on Thursday.

® Monday
® Tuesday
‘ ® Wednesday

Thursday a ) 5
m Friday
m Saturday b) 9
m Sunday C
) 7

d) s
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What are the roots of the following equation: 4x? — 28x = - 48

FgfTRdd THIHRUT & Hal 1 o: 4x2 — 28X = - 48

a) ¢
b) 2
c) 5
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How much will a sum of Rs 2500, invested at compound interest, amount to in 1 year
at 4% interest rate, interest compounded half-yearly?

2500 3UY Pi AR DT 1 T8 T 4% TS &2 WR [HYEH 1 BN, Od (< Iehgig sarel iR
fopa1 SIraT 8, sarel Sfedlitie =4 I Jyifed sidl g2

5. 2601
a)
p) 2656
C) s 2610
HA .
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If the heights of two triangles are in the ratio 3 : 2 and their bases are in the ratio
2 : 5, then what is the ratio of the areas of the two triangles?

gfc &l FAYSl 1 $Hdls 3: 2 @ HJUld H g IR 3b YR 2: 5 Urd 4 g, dl
Gl Al & &F%hd BT 3Urd 1 67

a) 2
b) 4
c) i:4
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Find the area of a trapezium whose parallel sides are 24 cm and 20 cm and the
distance between them is 15 cm.

Uh U IgUS DT &b AT DIoIT STt GHHIAR YSITU 24 JHT 3R 20 I
g 3R 3% §ld Pl g3l 15 Y4l 5

a) lowEP
b) sowe
C) 35 THI2

d) 30 JHI2
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HCF of 2 numbers is 8 and LCM is 1248. If one of the numbers is 96 then, find
the other number.

2 RT3 T HgaH JHUG 8 3R dHTH JHUG 1248 ¢ | Al Udh AT 96 © dl
ORI AT 1 DI

a) ¢
b)
c) o
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The speed of two trains Aand B is in the ratio of 3 : 5. Train A leaves for point Q from
point P and after 2 hours train B leaves from point Q for point P. If PQ = 460 km and
both the trains meet after 5 hours after B starts then find the speed of train A.

ACAARBII A 3: 5% UId H g1 ¢ Afdg P fdg Q & fou el & 8RR

2Hd 2 °¢ & dlg ¢ B fig Q U fdg P & fou @adl g1 afd PQ = 460 fhdi § 3IRB &
G- & 5 ©¢ 918 &l ¢ a8, af o ADI T Jd HIfg|

a) ) km/hr

b) 5kminr

C) 5kmir
HAS ...
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A child scored 75 marks in each of five subjects. What is the median marks
obtained by the child?

U §= - Ui A 8§ 9 ude § 75 3f® Ui (60| 92 & ¢RI U fhu U 3idh|
P AP FT B2

a) °
b) =
c)
d)
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A bag contains 20 P, 25 P, and 50 P coins in the ratio 7 : 6 : 5, amounting to Rs. 297.
Find the number coins of 25 P?

Uh FTH 7:6:5P UG H 20 U, 25 U 3R 50 U & g 1l g, foro! MR 297 7
25 U & [¥yep 1 T=AT J1d Difoid?

a) 0
b) 0
C) 0

0:45ER
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Yash started a cloth business with Rs 30000. After 2 months, Ravi joined the
business with Rs 25000, then find what would be the ratio of their profit at the
end of one year.

IR 9 30000 YT & 1Y U DhusI A9 Y= [hAl| 2 Hgl &1c, Id 25000 30
o 1Y aHrd | QAT gl 711, dl U ay o 3id J 3 1Yy ol 3{urd &1 gHTl|

a) 36
b) 25
C) - 25

d) -
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The sum of two digits of a number is 10. If the digits are interchanged, then its
value increases by 18. Find the number.

&l 3B DI GBAT & 3D BT ANT 10 g | Iie 3ihT DI YR dad [¢d] ST dl 3@
qE H 18 @I gl gl SId! g1 dl dg IR I1d Pifoiu |

a) ©
b)
c) .

d)
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The length and breadth of a rectangle is 8 cm and 3 cm. If breadth is doubled
and length is halved. Find the difference of perimeter.

U 1A Bl ey 3R ASTs 8 AT 31k 3 Tl ¢ afe =isTs aNIHT 31k darg sielt
gl Sirdl o | URHATY &1 3{dR I1d BT

a) -
b)
C)
d) .
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A sum of money when invested at compound interest for 3 years becomes 4 times of
itself. In how many years, the same sum will be 16 times of itself?

3 A & U Iehglg oarel UR ! A &1 (a9 fobt o4 IR 98 3191 4 71 81 Slell 6|
fopa-1 aul o, gt AT U1 16 A1 Bl SIIET 2

a)
b)
C)
d)

HAS
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If a number 2N18M is divisible by 72, then what should be the value of M - N?

gfe U T=A1 2N18M. 72 T fqUTsT §, dd M - N &1 AT 91 54T 91igu?

HAS

a)
b)
C)
d)
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With an offer of “Buy 5 Get 2 free”, What is the net discount percentage given
by the salesman?

"5 @l WG W 2 GUd" @ 3B W, faehdl gRI &l 7T Y ¢ D Uld=Id Dl A1d

DIfSTU|

a) o
b) sex
C)
d) o
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The perimeter and the length of one of the diagonals of a rhrombus is 34 cm and
8 cm respectively. Find the length of its other diagonal (in cm).

U GH FgHel HT IRATY 1R 3G f[dauil # J U fapmul ot g HA: 34 GHI
3R 8 THI g | ITd 3 Gl (FH! H) DI TTs J1d HIford |

a) °
b)
c) =
d) .
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The sum of two numbers is 60 whereas HCF and LCM of the numbers are 12 and 72
respectively. Find the sum of reciprocal of these numbers.

3 T=A131 BT AT 60 § Sai @13 Dl Heud JHUdq® SR Tgqd JHUdd® DH:
12 3R 72 B 31 =131 & ogehbd I AN 1A Difoil |

a) °
b) 72
c) >

0:45 KR
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A Shop keeper sells ice cream at a profit of 10%. If he had bought at 5% less and
sold at Rs. 8 more, he would have gained 20%. What is the cost price of the
icecream?

U GHMHER TS EHDIH DI 10% I A TR &l o1 afc 98 39 5% ©H T TG IR
8 3L H(¥b GR &, Al 3 20% DI ATH BIdl §| SSUDHIH PI Hd el [ 57

a) 03y
b) oz@
C) 0 30y
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